
�

���0@=E<�A7:BF	�1:/F3F�)=>A=7:	�E7B6�A/<2
�7@;�0@=E<��/B��:/F	�E7B6�0@719A�/<2�A63::A
�7@;�B=�AB744�0@=E<�/<2�0:C3��/B��:/F

B@/13�=4�0@719A	����B=��
�


E==2�����B=����


5@/F	�E7B6�A/<2�:/F3@A�03:=E����

D3@F�A=4B	�����B=����


A=4B�03:=E����

+3@F�23<A3�%==@:F��@/232�(/<2�E7B6�(7:B�/<2�A63::A

(=4B�5@/F��/B��:/F	�E7B6�A/<2�>=193BA�/<2�A63::
4@/5;3<BA

��

(%

��

�


��

�


��

�


�

��

��

��

��

��

��

��

��

��

��

��

��

��

�� ��

%! % 

%
!�

(
)

 �
 )

.
 #

�
�

-

�
�%

�
(

(
 #

�
#

=�
��




�(

 �
+

�

(���'�()'�#�)�

�B=<A�A?C/@3�4==B�


�
 
�� ��
 ��� ��
 ���

(
$

 !
�)

.
%

�

�% *� )+

��%)��$���$' #�����
����)

�������
������
�


#�,�$'!��#(	�!$* ( �#�

�
�

%
)

�
	��

)
�

��!�.����'$*#��,�)�'���)�����#��

�%%'$- "�)��(*'������!�+�) $#�

! 
&

*
 �

! 
"

 )
��

�
�

%
!�

(
)

 �
! 

"
 )

��
�

�

#

�

!$
,

(
��

)
�

(
�

"
%

!�
(

*
(

�
(

�(
.

"
�

$
!

**

%( �%@=831B�#=���
������

!$#� )*���
!�) )*���

).%��$���$' #����,�)�'$)�'.

($ !���(�' %) $#

��)���' !!����������


#$)�(��!$��) $#����* !� #���'��

�'$*#��,�)�'�*%$#��$"%!�) $#���)����"��(*'����)�����
�'$*#��,�)�'��*' #���' !! #����)����#��

�������������������������	�

�*()��   �'�( ��#) �!���+�!$%"�#)

!!

"
$

 (
)

*
'

�
�

$
#

)
�

#
)

��
�

��$$'� #�)���-��$'���() #��
�$$'� #�)���.��$'�#$')� #��

��������������������������������
	�����������
�����

��������������������	����

�
'

.
�*

#
 )

�,
�

 �
�

)
�>

14
�

���

��


���

�
�


����

���


����

�
�


����

���


����

�
�


����

���


����

�
�


����

���


����

�
�




��

�

(=4B�5@/F��/B��:/F	�E7B6�A/<2�>=193BA�/<2�A63::
4@/5;3<BA
�@/F�(7:BF�(/<2	�E7B6�1:/F�>=193BA

�7@;�5@/F�!3/<��:/F	�E7B6�A/<2�:/F3@A


D3@F�A=4B�03:=E����

"327C;�23<A3�B=�23<A3�5@/F�/<2�0@=E<�%==@:F��@/232
(/<2�E7B6�(7:B

E==2	�����B=��
�


1:/F�:/F3@A	�����B=��
�

�=@7<5�B3@;7</B32�/B��
�433B

("

�!

(%

����

��

��

��

��

��

��

��

��

��

�� ��

%! % 

%
!�

(
)

 �
 )

.
 #

�
�

-

�
�%

�
(

(
 #

�
#

=�
��




�(

 �
+

�

(���'�()'�#�)�

�B=<A�A?C/@3�4==B�


�
 
�� ��
 ��� ��
 ���

(
$

 !
�)

.
%

�

�% *� )+

��%)��$���$' #�����
����)

�������
������
�


#�,�$'!��#(	�!$* ( �#�

�
�

%
)

�
	��

)
�

��!�.����'$*#��,�)�'���)�����#��

! 
&

*
 �

! 
"

 )
��

�
�

%
!�

(
)

 �
! 

"
 )

��
�

�

#

�

!$
,

(
��

)
�

(
�

"
%

!�
(

*
(

�
(

�(
.

"
�

$
!

**

%( �%@=831B�#=���
������).%��$���$' #����,�)�'$)�'.

($ !���(�' %) $#

��)���' !!����������


#$)�(��!$��) $#����* !� #���'��

�'$*#��,�)�'�*%$#��$"%!�) $#���)����"��(*'����)�����
�'$*#��,�)�'��*' #���' !! #����)����#��

��������������������	����	�

�*()��   �'�( ��#) �!���+�!$%"�#)

!!

"
$

 (
)

*
'

�
�

$
#

)
�

#
)

��
�

�

��������������������������������
	�����������
�����

��������������������	����

�
'

.
�*

#
 )

�,
�

 �
�

)
�>

14
�

����

���


����

�
�


����

���


����

�
�


����

���


����

�
�


����

���


����

�
�


����

���


����

�

�



